@ ? a ﬁ Prozente der Dezimalstellen berechnen

Name: Datum: Ergebnis:
6, 17 < 20% = 8,52 x 80% =
6,71 x 60% = 8, 66 x 60% =
1,34 x 40% = 8, 8 x 80% =
3,73 x10% = 5,35 x90% =
4,77 x 80% = 7, 11 x 80% =
1,42 x 60% = 3,9 x60% =
8, 88 x 20% = 3,24 x30% =
2,03 x 90% = 1,44 x 50% =
0, 89 x 80% = 4, 82 x90% =
1,63 x 90% = 2,9 x80% =
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Prozente der Dezimalstellen berechnen

Name:

6, 17 x20% = 1.234

6,71 x 60% = 4.026

1,34 x40% = 0.536

3,73 x10% = 0.373

4,77 x 80% = 3.816

1,42 x 60% = 0.852

8,88 x20% = 1.776

2,03 x90% = 1.827

0, 89 x 80% = 0.712

1,63 x90% = 1.467

Datum: Ergebnis:

8,52 x 80% = 6.816

8,66 x 60% = 5.196

8,8 x80% = 7.04

5,35 x90% = 4.815

7, 11 x 80% = 5.688

3,9 x60% = 2.34

3,24 x30% = 0.972

1,44 x 50% = 0.72

4,82 x90% = 4.338

2,9 %x80% =2.32
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